Data

7 500mm Manlid Assembly -
FORT VALE Hydrogen Peroxide

500mm Manlid Assembly - for Hydrogen Peroxide tank
specification. 8 point fastening. Manlid cover fitted with a
dual drilled filling port and a 50mm breather vent. 8mm
thick neck/compensating ring profiled to suit tank radius.
Contact parts manufactured in 316 stainless steel.
Stainless steel swingbolts with stainless steel handnuts.
Seal supplied separately.

Options - Tank radius range from 850mm to 1220mm.
Alternative handnuts available. 135° and 120° opening.

: Specification
Example shown : E4X-83XX004A Weight 58.28 Kg *Note

= R Design Pressure (MAWP) 4 Bar (58 PSIG)

, Service Test Pressure 6 Bar (87 PSIG)

i Design Temperature -40°C to 200°C

135° - . {7 = -40°F to 392°F

B\ e / 5 ( )
3{ *Note: Weight may vary according to specification

90.0 ©500.0
2967 CTRREF Approved to BS EN14025

6 X M10 HOLES
EQUI-SPACED
ONA105.0 PCD

8 X M20 HOLES

EQUI-SPACED
ONA215.9 PCD 8 X M16 HOLES
(5"ASA 150) EQUI-SPACED
ONA210.1 PCD

Item | Description Part No.
1 Breather cap assembly 674/3040
2 Breather cap seal 5005-414
8 M10 full nut (6) 5112-002
4 M10 spring washer (6) 5113-002
5 2" BSP outlet 674/3546
6 M10 stud (6) 371/0001
7 PTFE O ring 5005-235
8 Sintered disc 865/2000
9 PTFE breather disc seal 5005-435
10 Manlid cover 74E/0550
11 Seal — supplied separately *Note| 5005-50XXX
12 Swingbolt assembly - 4x short 496/5342
4x long *Note 496/5XXX
13 M6 grubscrew 5111-009
14 Hinge pin assembly 600/1060
15 Hinge kit *Note 135A
16 Neckring *Note 6EP/6398XXXPR
17 M16 stud (8) 535/1301
18 PTFE fill flange gasket 5005-411
19 Blind flange 674/5051
20 M16 spring washer (8) 5113-012
21 M16 full nut (8) 5112-003

*Note Part number varies according to specification
© Fort Vale Engineering Ltd. 2017 MANO38 REV02-08.11.17



	Page 1

